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1. S EE S ARG =T 205,631,000 205,631,000 205,630,540
1.8t w8 Al g = 205,631,000 205,631,000 205,630,540

Sl G A Y= = 166,439,000

EAAGR A Y= = 39,191,540
2. AHA <) 15,326,000 15,326,000 15,325,740
1.8t R R 49 14,754,000 14,754,000 14,752,690
1.4 A 55149 14,754,000 14,754,000 14,752,690
1.2 10,274,000 10,274,000 10,272,690

kel = 9,411,400

a2 = 861,290
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LA E YT R 168,000 168,000 167,750
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A S = 167,750
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3. 71849 6,100,000 6,100,000 6,099,180
1L AGE | g7 6,100,000 6,100,000 6,099,180
LEAAY = 6,100,000 6,100,000 6,099,180
1.eAAY A= 6,100,000 6,100,000 6,099,180
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